
10 – 11 класс 
1 2 3 4 5 6 7 8 
ж 3505+1206+5050+ 

+580+907 =11248 

40*70+40*40-
3,14*152*1/2= 
= 4046,75 
4046,75*18 = 
=72841,5 
72,8415*0,65≈ 
≈ 47г 

Г ж 1. Сш-полуобхват шеи, 

2. Сг-полуобхват груди,  

3. Оп-обхват плеча,  

4. Дтс-длина спины до талии,  

5. Ди-длина изделия.  

Ночная сорочка 

а 1-б; 

2-в; 

3-а 

9 10 11 12 13 14 

да, можно. При 

раскрое ворсовых 

тканей ворс должен 

располагаться в 

одном направлении 

муляжный 

метод 

моделирования 

(наколка) 

80 а) 

зубчатая, 

например, 

в часах.  

б) А 

а) прорезной 

карман с 

клапаном,  

б) например, 

пальто, пиджак, 

жакет. 

От степени 

осыпаемости 

ткани 

      

15 16 17 18 19 20 

а а 1 – нет 

2 – да 

3 – да 

4 – нет 

5 - нет 

а-4, 

б-1, 

в-2, 

г-3 

1 кг крупы = 4 кг каши; 

6кг х 4кг= 24кг(каши); 

24кг/0,2=120 порций 

Ответ: 120 порций 

Рыхление 


